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Question Number : 1 Question Id : 8643519106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fill in the blanks

In general, early childhood indicates the period of a child from to

1. Prenatal to 8 years
2.0 to 3 years
3. 3 to 6 years
4.6 to 8 years

Options :

86435128731. 1
86435128732. 2
86435128733.3
86435128734. 4

Question Number : 2 Question Id : 8643519107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



To understand the term ‘development’, which one of the following is FALSE?

1. It denotes structural and physical changes
2. It denotes improved acquisition of skills
3. It is not indicative by nature

4. It is qualitative

Options :

86435128735. 1
86435128736.2
86435128737. 3
86435128738. 4

Question Number : 3 Question Id : 8643519108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is called the emotional entre?

1. Forebrain
2. Midbrain
3. Hindbrain
4. Medulla oblongata

Options :

86435128739. 1
86435128740. 2
86435128741. 3
86435128742. 4

Question Number : 4 Question Id : 8643519109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Intensive swimming practice to demonstrate the skill of swimming represents which cognitive
element?

1. Attention

2. Retention

3. Reproduction
4, Motivation

Options :

86435128743. 1
86435128744.2
86435128745. 3
86435128746. 4

Question Number : 5 Question Id : 8643519110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which ICDS component was not given due importance amidst its tremendous expansion?

1. Supplementary nutrition

2. Nutrition and health education
3. Immunisation

4. Preschool non formal education

Options :

86435128747. 1
86435128748. 2
86435128749. 3
86435128750. 4

Question Number : 6 Question Id : 8643519111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The main aim of providing quality care and education during the early years is to

1. educate the child in reading and writing

2. facilitate the child to develop as a holistic individual
3. provide good nutrition

4. enable the child to learn life skills

Options :

86435128751. 1
86435128752. 2
86435128753.3
86435128754. 4

Question Number : 7 Question Id : 8643519112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the columns based on the functions of the various parts of the brain

Parts of the brain Function

A. Forebrain I. Emotional centre
B. Midbrain Il. Executive centre
C. Hindbrain lll. Alarm centre

Choose the correct answer from the options given below:

T.A-HILB-1l,C-I
2ZA-11,B-l,C-I
3.3A-1,B-1l,C-1
4 A-IL,B-1,C-1

Options :
86435128755. 1
86435128756. 2



86435128757.3
86435128758. 4

Question Number : 8 Question Id : 8643519113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A skilful tutor to guide the child towards effective learning is called

1. MKO
2. ZPD
3. LAD
4, ECD

Options :

86435128759. 1
86435128760. 2
86435128761. 3
86435128762. 4

Question Number : 9 Question Id : 8643519114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List I
Philosophy Founder
4. Kindergarten . Tagore
B. Freedom in learning |[II. Froebel
C. Laboratory school  |lll. Montessori
D. Shantiniketan V. Dewey

V. Gandhiji

Choose the correct answer from the options given below:

1.LA-V,B-llI,C-1,D-1
2 AANGEAH G D
3A-1I,B-NLC-IV,D-1
4.A-II,B-1,C-1V,D-ll

Options :

86435128763. 1
86435128764. 2
86435128765. 3
86435128766. 4

Question Number : 10 Question Id : 8643519115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shantiniketan is a model school designed by

1. Rabindranath Tagore
2. Tarabai modak

3. Mahatma Gandhi

4. Gijubai Badheka



Options :

86435128767. 1
86435128768. 2
86435128769. 3
86435128770. 4

Question Number : 11 Question Id : 8643519116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is true for development?

1. The pattern of development is the same for all children but the rate differs
2. The pattern and rate of development is the same for all children

3. The rate of development is same for all children but the pattern differs

4. Both the rate and pattern of development are different for different children

Options :

86435128771. 1
86435128772.2
86435128773. 3
86435128774. 4

Question Number : 12 Question Id : 8643519117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

'Play helps the child to master anxieties and conflicts' is the belief of

1. Parten
2. Gardner
3. Skinner
4. Freud

Options :
86435128775. 1



86435128776. 2
86435128777. 3
86435128778. 4

Question Number : 13 Question Id : 8643519118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Asking questions is an indication of better

1. sensory development

2. cognitive development
3. aesthetic sense

4. emotional development

Options :

86435128779. 1
86435128780. 2
86435128781. 3
86435128782. 4

Question Number : 14 Question Id : 8643519119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List 11

Domains of Development |Sub-areas of Development

A. Physical .. Imagination
B. Psycho-social Il. Brain Development
C. Cognitive Il. Moral development

Choose the correct answer from the options given below:

1.A-1,B-11,C-1l
ZA-lIl,B-Il,C-1I
3A-II,B-1,C-|
4 A-1LB-1,C-1l

Options :

86435128783. 1
86435128784.2
86435128785. 3
86435128786. 4

Question Number : 15 Question Id : 8643519120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Every neuron has the potential of establishing how many synaptic connections?

1. 5000

2. 10,000
3. 15,000
4, 20,000

Options :
86435128787. 1



86435128788. 2
86435128789. 3
86435128790. 4

Question Number : 16 Question Id : 8643519121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many cognitive elements are needed for observational learning?

1.2
2 4
3.6
4.8

Options :

86435128791. 1
86435128792.2
86435128793. 3
86435128794. 4

Question Number : 17 Question Id : 8643519122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The National ECCE policy was framed in the year

1. 1975
2. 2000
3. 2010
4. 2013

Options :

86435128795. 1
86435128796. 2
86435128797. 3



86435128798. 4

Question Number : 18 Question Id : 8643519123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Last year a high school exempted students having 100% attendance from writing their final
exams and promoted them to next class. The school finds a dramatic increase in attendance
for the current year. This is an example of

1. Positive reinforcement
2. Negative reinforcement
3. Positive punishment

4. Negative punishment

Options :

86435128799. 1
86435128800. 2
86435128801. 3
86435128802. 4

Question Number : 19 Question Id : 8643519124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The main purpose of programme planning in ECCE centres is to create a/an

1. conducive play environment

2. safer place for child care

3. intense education unit

4. favourable teaching-learning environment

Options :

86435128803. 1
86435128804. 2
86435128805. 3



86435128806. 4

Question Number : 20 Question Id : 8643519125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ability to understand that the words are made of various sound units and are segmented

as ‘syllables’ is called

1. Vocabulary

2. Fluency

3. Phonology

4. Comprehension

Options :

86435128807. 1
86435128808. 2
86435128809. 3
86435128810. 4

Question Number : 21 Question Id : 8643519126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aesthetic appreciation is related to

1. Kinesthetic Intelligence
2. Naturalist Intelligence

3. Interpersonal Intelligence
4. Intrapersonal Intelligence

Options :

86435128811. 1
86435128812. 2
86435128813. 3



86435128814. 4

Question Number : 22 Question Id : 8643519127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sigmund Freud viewed play from a

1. Learning perspective

2. Fun perspective

3. Engaging perspective
4. Therapeutic perspective

Options :

86435128815. 1
86435128816. 2
86435128817. 3
86435128818. 4

Question Number : 23 Question Id : 8643519128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ecological systems theory was proposed by

1. Jean Piaget

2. B.F. Skinner

3. Lev Vygotsky

4, Urie Brofenbrenner

Options :

86435128819. 1
86435128820. 2
86435128821. 3
86435128822. 4



Question Number : 24 Question Id : 8643519129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange the sub-stages of Piaget's sensorimotor stage in the correct sequence
A. Primary circular reaction

B. Mental representation

C. Secondary circular reaction

D. Simple reflexes

E. Coordination of circular reaction

F. Tertiary circular reaction

Choose the correct answer from the options given below

1.D,C,EAFB
2D CFEAB
3DACEERB
4D, FECAB

Options :

86435128823. 1
86435128824.2
86435128825. 3
86435128826. 4

Question Number : 25 Question Id : 8643519130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Learning is defined as the process that results in a relatively consistent change in
behaviour

Reason R: Consistent changes may not be permanent changes
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435128827. 1
86435128828. 2
86435128829. 3
86435128830. 4

Question Number : 26 Question Id : 8643519131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child when asked to segregate blocks, will not be able to do the activity based on two
characteristics at a time (Size and Colour). This is because of

1. Animistic thinking

2. Centration

3. Transductive reasoning
4. Conservation

Options :



86435128831. 1
86435128832. 2
86435128833. 3
86435128834. 4

Question Number : 27 Question Id : 8643519132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Planning an extensive and balanced curriculum is a

1. long term plan

2. medium term plan
3. short term plan

4. daily plan

Options :

86435128835. 1
86435128836.2
86435128837. 3
86435128838. 4

Question Number : 28 Question Id : 8643519133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

Sensorimotor sub-stages Characteristics
A. Simple reflexes l. Intentional goal-directed behaviour
B. Tertiary circular reaction Il. Novelty and curiosity
C. Mental representation lll. Repeating chance behaviour
D. Coordination of circular reaction|lV. First habits
V. Internal depiction of objects/events

Choose the correct answer from the options given below:

1.LA-IV,B-1I,C-1,D-V
2A-IV,B-1LC-V,D-1I
3A-V,B-V.C-I1,D-]
4 A-WV,B-1,C-lI,D-V

Options :

86435128839. 1
86435128840. 2
86435128841. 3
86435128842. 4

Question Number : 29 Question Id : 8643519134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Arrange the stages of play among young children in the correct sequence
A. Parallel play

B. Solitary play

C. Unoccupied play

D. Onlooker play

Choose the correct answer from the options given below

1.D, A B, C
2C D0 AB
3.D,B,C A
4.C B DA

Options :

86435128843.
86435128844.
86435128845.
86435128846.

AW N~

Question Number : 30 Question Id : 8643519135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cooperative play sets in between

1. Birth - 6 months
2. 6 months - 1 year
3.1- 2 years

4, 2 - 3 years

Options :



86435128847. 1
86435128848. 2
86435128849. 3
86435128850. 4

Question Number : 31 Question Id : 8643519136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Working or short-term memory is referred to as the conscious part of the human
mind

Reason R: The information in short-term memory can be stored and processed actively

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435128851. 1
86435128852.2
86435128853. 3
86435128854. 4

Question Number : 32 Question Id : 8643519137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is referred to as the building blocks of thinking?

1. Schemas

2. Adaptation

3. Assimilation

4, Accomodation

Options :

86435128855. 1
86435128856.2
86435128857. 3
86435128858. 4

Question Number : 33 Question Id : 8643519138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A good preschool programme should be

1. elaborate and complicated
2. rigid and time bound

3. predictable and flexible

4. periodic and fragmented

Options :

86435128859. 1
86435128860. 2
86435128861. 3
86435128862. 4

Question Number : 34 Question Id : 8643519139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the most common approach used in teaching young children in early learning centres?

1. Theme based approach
2. Activity based approach
3. Structured approach
4. Integrated approach

Options :

86435128863. 1
86435128864. 2
86435128865. 3
86435128866. 4

Question Number : 35 Question Id : 8643519140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The potential to express oneself and understand others is

1. Intrapersonal Intelligence
2. Bodily Intelligence

3. Linguistic Intelligence

4. Naturalist Intelligence

Options :

86435128867. 1
86435128868. 2
86435128869. 3
86435128870. 4

Question Number : 36 Question Id : 8643519141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the career prospect of an individual with a dominant visual/spatial intelligence

1. Athlete
2. Poet

3. Scientist
4, Architect

Options :

86435128871. 1
86435128872.2
86435128873. 3
86435128874. 4

Question Number : 37 Question Id : 8643519142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the period had indulgence as the popular mode of parenting?

1. Contemporary

2. Digital Revolution
3. Social Revolution
4. Conventional

Options :

86435128875. 1
86435128876. 2
86435128877. 3
86435128878. 4

Question Number : 38 Question Id : 8643519143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the extensive repertoire of skills and strategies that a DAP educator should possess

1. Ability to adjust curriculum, activities, and materials when needed

2. Ability to implement curriculum, activities, and materials in all contexts
3. Ability to teach a whole class at any given moment

4. Ability to evaluate the whole curriculum effectively

Options :

86435128879. 1
86435128880. 2
86435128881. 3
86435128882. 4

Question Number : 39 Question Id : 8643519144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The appropriate interactive process taking place between early childhood educator and the
children in a conducive learning environment is called

1. planning
2. pedagogy

3. play
4. dispositions

Options :

86435128883. 1
86435128884. 2
86435128885. 3
86435128886. 4

Question Number : 40 Question Id : 8643519145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Sequence the process of classical conditioning

Order Number|Process

AT .. UCS elicits UCR

B.2 Il. CS elicits CR

.3 1. Neutral stimulus + UCS produces UCR

Choose the correct answer from the options given below:

T.A-1,B-1ILC-1I
2A-1,B-11,C-H
3A-11,B-1,C -1
4. A-11,B-1,C-1l
Options :

86435128887. 1
86435128888. 2
86435128889. 3
86435128890. 4

Question Number : 41 Question Id : 8643519146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children are mostly able to tie their shoelaces by the age of

1. 3 years
2 4 years
3. 3 years
4. 6 years

Options :
86435128891. 1
86435128892. 2



86435128893. 3
86435128894. 4

Question Number : 42 Question Id : 8643519147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Completing the story' is an activity that cannot be used to enhance

1. Communication skills
2. Literacy skills

3. Motor skills

4. Creative skills

Options :

86435128895. 1
86435128896. 2
86435128897. 3
86435128898. 4

Question Number : 43 Question Id : 8643519148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The child's ability to cope and bounce back with the changes is called

1. resilience

2. perseverance
3. identity

4, self-esteem

Options :

86435128899. 1
86435128900. 2
86435128901. 3
86435128902. 4



Question Number : 44 Question Id : 8643519149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The benefits of outdoor learning are

A. Freedom of expression

B. Enhanced aesthetic appreciation

C. Increased stress levels

D. Increased motivation

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B and C only
3. B, Cand D only
4. A and B only

Options :

86435128903. 1
86435128904. 2
86435128905. 3
86435128906. 4

Question Number : 45 Question Id : 8643519150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is characteristic of observation?

1. Objective description of a behavior

2. Judgemental tags attached to a behavior
3. Both 1 and 2

4. None of the above

Options :

86435128907. 1
86435128908. 2
86435128909. 3
86435128910. 4

Question Number : 46 Question Id : 8643519151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An initiative aimed at the universalization of elementary education is

1. Distance Primary Education Programme
2. Sarva Shiksha Abhiyan

3. Integrated Child Development Services
4. Early Childhood Education Scheme

Options :

86435128911. 1
86435128912. 2
86435128913. 3
86435128914. 4

Question Number : 47 Question Id : 8643519152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Taking risks’ is a learning potential that comes under

1. knowledge

2. understanding
3. skills

4. attitudes

Options :

86435128915. 1
86435128916. 2
86435128917. 3
86435128918. 4

Question Number : 48 Question Id : 8643519153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The strategy of modelling ways to cope up with failures and disappointment helps to enhance
ones

1. Concentration
2. Curiosity
3. Creativity
4, Resilience

Options :

86435128919.
86435128920.
86435128921.
86435128922.

AW N~

Question Number : 49 Question Id : 8643519154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the first process needed to execute the ECE curriculum in a systematic and effective
way for achieving all-round development of children

1. Programme planning
2. Teaching

3. Evaluation

4. Pedagogy

Options :

86435128923. 1
86435128924. 2
86435128925. 3
86435128926. 4

Question Number : 50 Question Id : 8643519155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are strategies to nurture a child’s strengths?
A. Open recognition of child’s strengths

B. Appreciating the end products rather than the process

C. Reinforcement of newly developed skills

D. Open space for children to explore and experiment

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B and C only
3. A, Cand D only
4. B, Cand D only



Options :

86435128927. 1
86435128928. 2
86435128929. 3
86435128930. 4

Question Number : 51 Question Id : 8643519156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The points of contact for sharing information about the child include
A. Drop and pick up time of the child

B. Home events by ECCE providers

C. Assessing emotional, behavioural and social problems of the child
D. Parent participation in classroom

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A Cand D only
4 A B CandD

Options :

86435128931. 1
86435128932. 2
86435128933. 3
86435128934. 4

Question Number : 52 Question Id : 8643519157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Day care centre/school is a part of

1. Mesosystem
2. Exosystem

3. Microsystem
4. Macrosystem

Options :

86435128935. 1
86435128936. 2
86435128937. 3
86435128938. 4

Question Number : 53 Question Id : 8643519158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The interaction between the subsystems of microsystem is referred to as

1. Microsystem
2. Mesosystem
3. Exosystem

4, Macrosystem

Options :

86435128939. 1
86435128940. 2
86435128941. 3
86435128942. 4

Question Number : 54 Question Id : 8643519159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the pedagogy that is described as a progressive teaching style

1. Constructivist pedagogy

2. Contemporary pedagogy

3. Behaviorist pedagogy

4. Social-constructivist pedagogy

Options :

86435128943. 1
86435128944. 2
86435128945. 3
86435128946. 4

Question Number : 55 Question Id : 8643519160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A child in the age span of 2-7 years is said to be not self-centred

Reason R: These children believe that everyone around them thinks, feels, perceives things in
the same way as they do

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :
86435128947. 1
86435128948. 2



86435128949. 3
86435128950. 4

Question Number : 56 Question Id : 8643519161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Taking turns is an example of

1. self-regulation

2. emotional maturity
3. emotional awareness
4, social interaction

Options :

86435128951. 1
86435128952. 2
86435128953. 3
86435128954. 4

Question Number : 57 Question Id : 8643519162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pedagogy that emerged as an implication of Vygotsky theory is

1. Positioning

2. Empowering
3. Scaffolding

4. Demonstrating

Options :

86435128955. 1
86435128956. 2
86435128957. 3
86435128958. 4



Question Number : 58 Question Id : 8643519163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The period during which a child attains the potential to label his/her emotions is when s/he is
a

1. Infant

2. Toddler

3. Pre schooler
4, Adolescent

Options :

86435128959. 1
86435128960. 2
86435128961. 3
86435128962. 4

Question Number : 59 Question Id : 8643519164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Identify the ways of fostering self-regulated learners

A. Consider children’s disposition when presenting challenging tasks
B. Model using communication to negotiate conflict

C. Corner arrangement with the design of less conflict and distraction
D. Emotional outlets through physical aggression

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only

Options :

86435128963. 1
86435128964. 2
86435128965. 3
86435128966. 4

Question Number : 60 Question Id : 8643519165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cultivating plants/caring pets enhances which kind of intelligence?

1. Naturalist

2. Logical

3. Kinesthetic
4. Interpersonal

Options :



86435128967. 1
86435128968. 2
86435128969. 3
86435128970. 4

Question Number : 61 Question Id : 8643519166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The way of responding to the other person by reflecting his thoughts and feelings is called

1. Regular listening

2. Reflective listening

3. Regular communication
4. Reflective communication

Options :

86435128971. 1
86435128972.2
86435128973. 3
86435128974. 4

Question Number : 62 Question Id : 8643519167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first transition that a child experiences is

1. Class to class transition

2. Transition between activities

3. Home to daycare or school transition
4. Preschool to formal schooling

Options :
86435128975. 1
86435128976. 2



86435128977. 3
86435128978. 4

Question Number : 63 Question Id : 8643519168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Engaging parents and families in assessment is needed because
A. It provides first-hand information about the child

B. More detailed information is available

C. Exchange of knowledge is limited

D. Family background can be understood

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A and B only
4. B and D only

Options :

86435128979. 1
86435128980. 2
86435128981. 3
86435128982. 4

Question Number : 64 Question Id : 8643519169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who Proposed Socio-cultural Theory?

1. Jean Piaget

2. B.F.Skinner

3. Lev Vygotsky

4, Urie Brofenbrenner

Options :

86435128983. 1
86435128984. 2
86435128985. 3
86435128986. 4

Question Number : 65 Question Id : 8643519170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Providing opportunities for group activities can be initiated during the stage

1. infancy

2. toddlerhood
3. preschool

4. school-going

Options :

86435128987. 1
86435128988. 2
86435128989. 3
86435128990. 4

Question Number : 66 Question Id : 8643519171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the social skills with the age

Age Social Skills

A. 3 to 4 years|l. show interest in others and spend time watching them

B. 4 to 5 years||l. like cooperative play and able to maintain friendships

C. 5 to 6 years|lll. friendships are often short lived

Choose the correct answer from the options given below:

L=l B=d E ]

2ZA-M,B-1,C-1
3A-ILB-M,C-|
4.A-11,B-LC-1

Options :

86435128991. 1
86435128992. 2
86435128993. 3
86435128994. 4

Question Number : 67 Question Id : 8643519172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arnold Gesell was the first person to explain

1. developmental milestones

2. scaffolding

3. that children are young scientists
4. reciprocalism

Options :

86435128995. 1
86435128996. 2
86435128997. 3



86435128998. 4

Question Number : 68 Question Id : 8643519173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learner-centered education was introduced by

1. Comenium

2. Pestalozzi

3. Jacques Rousseau
4. Herbart

Options :

86435128999. 1
86435129000. 2
86435129001. 3
86435129002. 4

Question Number : 69 Question Id : 8643519174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ability to control one’s behaviour, emotions, thoughts for a certain time to achieve a long-
term goal is

1. Self-esteem

2. Self-image

3. Self-respect

4. Self-regulation

Options :

86435129003. 1
86435129004. 2
86435129005. 3
86435129006. 4



Question Number : 70 Question Id : 8643519175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The socio economic status of a child is considered for assessment in being

1. developmentally appropriate
2. educationally significant

3. culturally responsive

4. age appropriate

Options :

86435129007. 1
86435129008. 2
86435129009. 3
86435129010. 4

Question Number : 71 Question Id : 8643519176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : Behaviours followed by positive outcomes are strengthened, whereas
behaviours followed by negative outcomes are weakened

Reason R: The inappropriate stimulus-response connections (S-R connections) strengthen
the behaviour

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435129011. 1
86435129012. 2
86435129013. 3
86435129014. 4

Question Number : 72 Question Id : 8643519177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the major requisites of outdoor learning environment where children will be excited
and ready to explore is

1. a wooden bench to sit
2. fixed play equipment
3. natural elements

4. place to run



Options :

86435129015. 1
86435129016. 2
86435129017. 3
86435129018. 4

Question Number : 73 Question Id : 8643519178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fill in the blank
Creativity is a/an disposition

1. inborn
2. social
3. intellectual
4, emotional

Options :

86435129019. 1
86435129020. 2
86435129021. 3
86435129022. 4

Question Number : 74 Question Id : 8643519179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the skills with the activities

Activities Skills

A. Eye- hand coordination|l. Squeezing, hammering, pushing and pulling

B. Fine muscles strength |Il. Pouring, straining, scooping, beading

C. Manipulation of tools |lll. Painting, drawing, scribbling, cutting

Choose the correct answer from the options given below:

1.LA-1,B-ll,C-1
2A-1L,B-1,C-1l
S T | B L8R | B e
4. A-1,B-1l,C-1

Options :

86435129023. 1
86435129024. 2
86435129025. 3
86435129026. 4

Question Number : 75 Question Id : 8643519180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The enduring habits of mind and action is called

1. resilience

2. perseverance
3. disposition
4. self-identity
Options :

86435129027. 1
86435129028. 2



86435129029. 3
86435129030. 4

Question Number : 76 Question Id : 8643519181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which type of assessment gives accurate and objective results?

1. Standard assessment
2. Dynamic assessment
3. Observation assessment
4, Informal assessment

Options :

86435129031. 1
86435129032. 2
86435129033. 3
86435129034. 4

Question Number : 77 Question Id : 8643519182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A detailed explanation of a situation or an event involving the child is called

1. Rubrics

2. Rating scales

3. Descriptive records
4. Frequency counts

Options :

86435129035. 1
86435129036. 2
86435129037. 3
86435129038. 4



Question Number : 78 Question Id : 8643519183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Process of building a unique and lively picture of a child is called

1. Co-constructing
2. Scaffolding

3. Modelling

4. Documenting

Options :

86435129039. 1
86435129040. 2
86435129041. 3
86435129042. 4

Question Number : 79 Question Id : 8643519184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: nitially, the schemas are sensorimotor actions and later followed by mental
representations.

Reason R: Schemas are referred to as the basic building blocks of thinking.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435129043. 1
86435129044. 2
86435129045. 3
86435129046. 4

Question Number : 80 Question Id : 8643519185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the DAP activities with the age

Age DAP

A. 3 to 4 years |l. Demonstrate the self-help skills, help clean up after any spills
B. 4 to 5 years |Il. Allow children to serve themselves at the table

C.5to 6 years |lll. Allow children to feed themselves

Choose the correct answer from the options given below:

1LA-LB-U,C-1
2A-I1,B-1,C-l
S T | B L8R | B e
4 A-ILB-LC-1l

Options :

86435129047. 1
86435129048. 2
86435129049. 3
86435129050. 4

Question Number : 81 Question Id : 8643519186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is "animism’'?

1. Imagining non living things have life
2. Playing with animals

3. Role playing animals

4. Fear of animals

Options :

86435129051. 1
86435129052. 2
86435129053. 3



86435129054. 4

Question Number : 82 Question Id : 8643519187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The key responsibility of an ECCE provider is to

A. Assist in skill development of children

B. Plan a stimulating learning environment

C. Design daily schedules and routine

D. Look into the process of admission to primary school
Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A Band Conly
4. A Cand D only

Options :

86435129055. 1
86435129056. 2
86435129057. 3
86435129058. 4

Question Number : 83 Question Id : 8643519188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Effective learning is a collaborative process’ is the view of

1. Constructivist pedagogy

2. Behaviorist pedagogy

3. Social-constructivist pedagogy
4. Contemporary pedagogy

Options :

86435129059. 1
86435129060. 2
86435129061. 3
86435129062. 4

Question Number : 84 Question Id : 8643519189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Object permanence is achieved by

1. 3 months
2. 6 months
3. 9 months
4. 12 months

Options :

86435129063. 1
86435129064. 2
86435129065. 3
86435129066. 4

Question Number : 85 Question Id : 8643519190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The test that compares the score of an individual with a predetermined standard score is
called

1. Criterion referenced tests

2. Norm referenced tests

3. Readiness referenced tests

4, Achievement referenced tests

Options :

86435129067. 1
86435129068. 2
86435129069. 3
86435129070. 4

Question Number : 86 Question Id : 8643519191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the language DAP activities with the age

Age DAP in Language

A. 3 to 4 years|l. Recreate a story and invite them to narrate in the group

B. 4 to 5 years|ll. Introduce words through rhymes, stories, and poems

C. 5 to 6 years|lll. Introduce planning and executing to a project of musical drama

Choose the correct answer from the options given below:

TA-ILB-1,C-1
2A-1LB-1I,C-1I
3A-,B-1I,C-1
A A-1I,B-I,C-ll
Options :

86435129071. 1



86435129072. 2
86435129073. 3
86435129074. 4

Question Number : 87 Question Id : 8643519192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The events when recorded chronologically to depict the behaviours/performance of a child

are called

1. Anecdotes

2. Running records
3. Video tapes

4. Audio tapes

Options :

86435129075. 1
86435129076. 2
86435129077. 3
86435129078. 4

Question Number : 88 Question Id : 8643519193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the pedagogy type that motivates the child to have positive interactions and
discussions, to the maximum possible.

1. Modelling

2. Co-construction
3. Questioning

4. Empowering

Options :
86435129079. 1



86435129080. 2
86435129081. 3
86435129082. 4

Question Number : 89 Question Id : 8643519194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Indoor learning environment is very significant because of which of the following?
A It's a place where all learning experiences take place

B. It's a place where children feel safe and secure

C. It's a place where the teacher attends to the child

D. It's a place where the child is free of pollution

Choose the correct answer from the options given below:

1.A B CandD
2. A, Cand D only
3. A Band Conly
4. A and B only

Options :

86435129083. 1
86435129084. 2
86435129085. 3
86435129086. 4

Question Number : 90 Question Id : 8643519195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A scrapbook or a large folder that has information of a child is called

1. More Knowledgeable Others

2. Learning Journey Portfolio

3. Language Acquisition Device
4. Zone of Proximal Development

Options :

86435129087. 1
86435129088. 2
86435129089. 3
86435129090. 4

Question Number : 91 Question Id : 8643519196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following practice examples follows a child-centered approach?

1. Questioning with constructive feedback
2. Modeling

3. Demonstrating

4. Giving direct instruction

Options :

86435129091. 1
86435129092. 2
86435129093. 3
86435129094. 4

Question Number : 92 Question Id : 8643519197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Movement across various settings within a particular time frame is called

1. Horizontal transition
2. Vertical transition

3. Interactive transition
4, Transaction transition

Options :

86435129095. 1
86435129096. 2
86435129097. 3
86435129098. 4

Question Number : 93 Question Id : 8643519198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which approach keeps a child's learning focussed on a specific concept?

1. Theme based
2. Activity based
3. Inquiry based
4. Integrated

Options :

86435129099. 1
86435129100. 2
86435129101. 3
86435129102. 4

Question Number : 94 Question Id : 8643519199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The term coined by Lev Vygotsky is

1. Self-actualization

2. Object permanence

3. Zone of Proximal Development
4. Projection

Options :

86435129103. 1
86435129104. 2
86435129105. 3
86435129106. 4

Question Number : 95 Question Id : 8643519200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment is a process of

A. Gathering facts and information about a child

B. Studying the information collected

C. Revising and reviewing the information

D. Providing high quality Early Childhood Education
Choose the correct answer from the options given below:

1. A, B and D only
2. B, C, and D only
3. A, Band C only
4. A and B only

Options :



86435129107. 1
86435129108. 2
86435129109. 3
86435129110. 4

Question Number : 96 Question Id : 8643519201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children’s ability to engage in reciprocal interactions is referred to as

1. Negotiation skills
2. Emotional skills
3. Transition skills
4, Social skills

Options :

86435129111. 1
86435129112. 2
86435129113. 3
86435129114. 4

Question Number : 97 Question Id : 8643519202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Invite parents to the centre l. Preparing and modification of curriculum

B. Classroom participation individually|ll. Highlights progress of each and every child

C. Framing curriculum lll. To know centre, staff and child activities

D. Daily report of each child IV. Conduct a project or present a story

Choose the correct answer from the options given below:

1.A-1,B-01,C-1l,D-1V
2ZA-IV,B-11,C-1,D-1l
3.A-l,B-IV,C-1,D-I
4 A-11,B-II,C-IV,D-I

Options :

86435129115. 1
86435129116. 2
86435129117. 3
86435129118. 4

Question Number : 98 Question Id : 8643519203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the play that gives maximum cpportunity to increase creativity.

1. Constructive Play
2. Physical Play
3. Adventurous Play
4. Fantasy Play

Options :
86435129119. 1



86435129120. 2
86435129121.3
86435129122. 4

Question Number : 99 Question Id : 8643519204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Adding or condensing or integrating the stored information is referred to as

1. Recognition

2. Reconstruction
3. Reinforcement
4, Recall

Options :

86435129123. 1
86435129124. 2
86435129125. 3
86435129126. 4

Question Number : 100 Question Id : 8643519205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Motor Development is understood from development of two aspects which are and

1. growth and development
2. height and weight

3. gross and fine muscles

4. qualitative and quantitative

Options :
86435129127. 1
86435129128. 2



86435129129. 3
86435129130. 4



